4—673b
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ke
26 Subdivision of T. 8 N., R. L3 E.
Chains

' Land, mountainous.

Soil, sandy, shallow, gravelly and rocky; Lith rate.
Timber, scattering pinion pine and juniper; undergrowth,
sagebrush, snudscale and 'a fair growth of grasse.

-
N. 0° O1l' W., on the.W. bdy. of.sec. 1.
Cver mountainous land, through scattering ‘timber and
dense undergrowth, as c. 50 ft. over S. slope.

10,00 | Top of spur, slopes S. T5° W.; desc. 10 ft.

12,00 | Wash, course W.; asc. 20 ft,

21.60 | Top of spur, slopes S. 80° W.; desc. 20 ft.

27+80 | Wesh, ccurse S. 60° W.; asc.150 ft. over SE, slope€.

%26,03 | Proportionate distance, zlong E. bdy. sec. 2. )
Set an iron pos t* Z ft. long, 1 in, diam., 27 ins. in
the ground, for I sec. cor. of sec. 2 only, with brass
cap rkde. ’

)
3 52
19,0
* . raise a mound
of stone, 2 ft. base, 1z ft. high, W. of cor.

37450 | Top of spur ridge, bears W. 2.00 chs. to pesk, and E.
5.00 chs. to saddle; desc. 35 rt.

40400 | Set an iron post, 3 [t. long, 1 in. diam., 18 ins. in
the ground to bedrock,.with a granite stone, Lx6x8 ins.,
rkd, X, deposgited at the base, and in a mound of stone
to top, for % sec. cor., for sec. 1 only, with brass
cap nkde . .

: ;81
1940
Desc, 105 ft. over broken N. slopes

}6460 |Wagh, 10 lks. wide, course NW, for 3.00 chs, then Wa;
asc, 10 ft. along a broken SV, slope.

£51.50 | Top of low spur, slopes . £0° W,; desc. 10 ft.

5640 |Wash, course 8. 60° W.; asc. 20 ft.

5G«20 |Top of low spur, slopes SW.; desc. 5 ft.

63.20 |Wash, ccurse SW.; sasc. 30 ft.

69400 |Top of spur, slopes SW,; desc. 25 ft.

76+23% |Intersect the &, bdy. of T. 9 N., R. 43

set en iron post, 3 ft. long, 2 ins. diam., 27 ins. in
the ground, for clcs1ng cor., of secs. 1 and 2, with
brass cap mkd.
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